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General Instructions :
(1) All questions are compulsery.

(it)  This question paper consists of four Sections A, B, C and D. Section A
contains 8 questions of one mark each, Section B is of 10 questions of
two marks,each, Section C is of 9 questions of three marks each and

Section D isof 3 questions of five marks each.

(iti) Thereis no overall choice. However, an internal choice has been provided
in one question of 2 marks, one question of 8 marks and all the three
questions of 8§ marks weightage. A student has to attempt only one of the

alternatives in such questions.

(iv)  Wherever necessary, the diagrams drawn should be neat and properly
labelled.
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Qus A
SECTION A

1. =& S geedi ® g, S @ fvea-gd i ge 7, fafa 1

JHBHAT, THbBSH, YOS, T

Write the two pre-fertilization events from the list given below :
Syngamy, Gametogenesis, Embryogenesis, Pollination

2.  TH UHl raumaierEh Iie (IUD) w1 AW fafgn foreeht gema o9 safcld ) dehd
8 T e e SpEhIvpet < fofw wfieet &1 ST | 1
Name an IUD that you would recommend to promote the cervix hostility
to the sperms.

3. W % AR HE-IUNGdA (HieesH)’ o1 8l © 2 1
What is ‘saltation’ according to de Vries ?
4 frfefed 3§ @ 2 a8 Fom g 1

(i) s % wsg “ufushee” 1 1 B A@ehar (dEr) favseias ad |
(i) 9T SE-WE BT @ |

(iii) BN ShIfd <h GRT Tl 1 3cAIEH AT BH @1 = |

(iv) IR SXdi § URhEl ol STIE 81 g dehal |

Identify the two correct statements from the following :

(1) Apiculture means‘apical meristem culture.

(i1))  Spinach is iron-enriched.

(i11)  Green revelution has resulted in improved pulse-yields.

(iv)  Aphids cannot infest rapeseed mustard.

5. el wh g H ADA-31ME <l U89 g3 2 | SHHI hlg Uh W ITAR

geATRul 1
A boy has been diagnosed with ADA-deficiency. Suggest any one possible
treatment.
6.  Tontlt Tt ® Icurgerar o T = feu 51 ® afiehtor § R’ 9 Wfefeia e
8? 1
GPP - R = NPP

What does ‘R’ represent in the given equation for productivity in an
ecosystem ?

GPP - R = NPP
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7. ISl IS HEl Bl 9IS STl & 2 TH IS AH = eI T 2 1

Where is good ozone present ? Why is it called so ?

8.  TgUWIfadl g+ aret fopelt Uehdeht Hehtol B Fo, fil O fohan JehR o crerorsredi
1 3T <kl ST 2 1

How many kinds of phenotypes would you expect in Fy generation in a

monohybrid cross exhibiting co-dominance ?

wuE B
SECTION B
9. foram A ool Al BEA 1 fomr i &w Id E | GEEE R Q1Y 1 =1
Torg gepR fora STaT 2 | 2

Banana crop is cultivated by farmers without sowing of seeds. Explain
how the plant is propagated.

10. THd HSATRHT o 39 99 9T % W fAfgy 96 9 glan g7 31vel a9 de
FAdT ST & S8 o o= 8 SRl e IShIY] T &I & S | 2
List the different parts of the human”oviduct through which the ovum
travels till it meets the sperm for fertilisation.

11. ¢+RNA &1 THHUfECRE 1 8id1 8, J91sT | 2

Explain aminoacylation,of &-RNA.

12. et T gogoieh LT TaiRaw 3R 389 3 8 W AFa IR § &=
Jrfspa Bidt 7, fafew | 2

Name an allergen and write the response of the human body when
exposed to'it.

13. HIHH dUT €S &1 3799 § o1 G- g ? AFd XK W 398 8 IAh Hl o=
IHTE BIdT 8, fARaT | 2

How are morphine and heroin related ? Mention the effect each one of
them has on the human body.

14. HARET ¥ 31q: YS9 1 Hexd uesy | 2
Explain the importance of inbreeding in cattle.
15. 34U ¥ 38 s9H % fou 3e8 w1 e ST 2 2 SHese | 2

Why is ‘starter’ added to set the milk into curd ? Explain.
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16. Ueh 3QEW hl GERAT ¥ HEIYehIIl T 2idl 2, GHesy | 2

Explain mutualism with the help of an example.

17. Safafagdr g s IR SR i =1 T | 2

e
3 Uiades B gEaae fohe I ATl @ angsti o AW fefgw | wterer &
= W 1 A ford YohR HERIdT hid 8 ? 2

List four causes of biodiversity loss.
OR

Name two metals used in a catalytic converter. How .de they help in
keeping the environment clean ?

18. 3] h Ush U H Weh e (o)) o1 Tshuvl & TR |, S99 aRE-Hih 3119
Giei ol ITH S hl Teh fafy w1 919 fafaw i 3 fowe # wwemsy | 2

A potato plant is infected with a virus. Name*and explain a method to
obtain virus-free potato plants from it.

@ug C
SECTION C

19. AUl Sk P Haredl 9 FeuE 9w % fu $w ' WM a9
SR/, fshamshaiaEaiud fhu 8 S8 foh foepfafas™ SRIFTem@TT qer
T UM & he P [0 384 TRUTfeeht TfYehiiE ¥ “wig amafa &t
Hicithehe Ta1 of T o)
FT W UH Haehar™ 1 THH HT ? AU I ok UG H P dH BRI
ECIE 3

A few residents in your locality, for business gains, have established
small-scale industrial / commercial activities such as pathological labs
and fabric dyeing centres without obtaining ‘No objection certificates’
from municipal authorities.

Would you support these activities ? Give any three reasons in support of
your answer.

20. AgAdiEl § gl e & g o Iaumal o AW fAfeT | ¥ R YR s d
2 2 75 ot fafew % 9 & wfads & wm s s fafa &t 2 3
Name the two end products of double fertilisation in angiosperms. How
are they formed ? Write their fate during the development of seed.
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21. WO 4 ZIGBeT W Hg fgHRt Tptu ohT 3IR qRN foh Fo-3T9Td Teamema
Heoly TUTd | 9gd ¥-174 3T | Th I 1 HERIa1 § I5eh! 37 @il
forar o wwsmsy | 3

Morgan carried out several dihybrid crosses in Drosophila and found
Fy-ratios deviated very significantly from the expected Mendelian ratio.
Explain his findings with the help of an example.

22. foelt clafshmm (3teied) s | F=ffgd & 9w S &1 T9H 37 39
fHeRT o ToIwT H T ASHT 3TRE@ ! TR § FHATST : 3

T (ITF), TTEHTCHS S, FAhH |

With the help of a schematic diagram, explain the location and the role of
the following in a transcription unit :

Promoter, Structural gene, Terminator.

23. EIfdd o Hd % FTER T TEUI oh Fehe B ohl GL Soh oA -=5hl o Y &I
Al § | EHSATSY | 3

According the Darwinian theory, the rate of appearance of new forms is
linked to their life cycles. Explain.

24, U YEYl SREIE I T THIhd G 5T | 3
Jrqa

(a) T=feifaa T & Icqeshal St & 9@ fafEu
i) veliug
(i) gg (I)
(i) ST

(b) 3H T, oh UM = ¥ § Hrasie TRey &7 8 TR T8™e &
Gohdl 8 ? 3

Draw a labelled sketch of a typical biogas plant.
OR

(a) Name the causative organisms for the following diseases :
(i) Elephantiasis
(i1)) Ringworm
(iii) Amoebiasis

(b)  How can public hygiene help control such diseases ?
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25. TH WIHL AT H Tl A ¥, HH 3R FGIFA gY I Yd IR 9T Y
et U8 ST I HiST o1 | 37 bl ol A Tl ud g fawg #
et TEehl Fgrar | e qa SHi hl T8 B Hoh IR 3§ 3ok
-39 TSR ! |9 &b | 3
Following a severe accident, many charred-disfigured bodies are
recovered from the site making the identification of the dead very
difficult. Name and explain the technique that would help the authorities
to establish the identity of the dead to be able to hand over the dead to
their respective relatives.

26. SEINUFR fopE ITM A ART IT g ? WEHRGE SUEN HodW JE 9T
ST AT 38eh fehral Q1 ©eehl o W fARIY | 3

What is a bioreactor used for ? Name a commonlysused bioreactor and
any two of its components.

27. U] YTy qUT 3Heh 39 WM ki AH ToRau [Eeht. Fer7sei s s-ahif=er Eshitd
AT 8 | 9t 91ey H ds-RNA ST H 877911277 shl “fiehT TSy | 3

Name the host plant and its part that Meloidogyne incognita infects.
Explain the role of Agrobacterium in the production of ds-RNA in the

host plant.
@uE D
SECTION D
28. THGl H IGHIVSHA HeATdl Sl AT €9 H gITST qT 3ok 5 § FHSST | 5
SDC]

A | SHARTTZRA & Hohd 7, ATHICA-TNN & Fhd & a1 A
- =t (AT -STEAdT) & Hebdll 8 | $9H | Jcdeh o (Ai¥TE AU T Jui
HIVT R JarEe fh 3980 § HH-8 Th TR o ol HAN: QIS ao

RIS ! FETaT od 3 | 5
Schematically represent and explain the events of spermatogenesis in
humans.

OR

Angiosperm flowers may be monoecious, cleistogamous or show
self-incompatibility. Describe the characteristic features of each one of
them and state which one of these flowers promotes inbreeding and
outbreeding respectively.
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29. (a) Torell ocfi G o WEHRE =R & Th Tclhd HiSA o1 ARG

ELIEN
(b) NG H 38 TR o Tshi ol HEwd (oTRGU | 5
HAAT
(a) Safafaedt & &I & U&7 H 3Teqd: ITAN, SATIehd: 3T qen Afdew
Toh 1 &, THEST |
(b) o Ffvea &= s “srferee” & Tenm ¢ Safafaedr s 3T
Teh shad 91 hal JdT g 2 YA o fohegl af STREA] o 19 fAfae | 5
(a) Draw a simplified model of phosphorus cycling in a terrestrial
ecosystem.

(b)  Write the importance of such cycles in ecosystéms:.

OR

(a)  Explain the narrowly utilitarian, broadly utilitarian and ethical
arguments in favour of conservation of'biodiversity.

(b)  How is designation of certain-areas as hotspots a step towards
biodiversity conservation ? Name any two hotspots in India.

30. (a) WAl ¥ forr HuRor forg TR BT 8 2
(b)  HfeRN ® qen HyAfRET ¥ g4 aret fom fHaRo @ a8 fhe yer g g
g7 5
Jrqam
(a)  SATIATIh R &1 BT 3 2
(b)  Tr=IfeiRed <l THATST
BT %e; THQY %e; HEMS He; IS He | 5

(a) How is sex determined in humans ?

(b) How does it differ from sex determination in birds and honey
bees ?
OR

(a) What is a genetic code ?
(b)  Explain the following :

Degenerate code; Unambiguous code; Universal code; Initiator code.
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